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Q.1 Select the most appropriate option that can substitute the underlined segment in the

given sentence.
Despite being his competitor, John was generous and forgiving in defeat and

congratulated his opponent on his well-deserved victory.

Ans 1. altruistic
2. magnanimous
3. fainthearted

4. venomous

Question ID : 264330143141
Status : Answered
Chosen Option : 1

Q.2 Select the option that can be used as a one-word substitute for the given group of
words/phrase.

A person who has features of extrovert and introvert

Ans 1. Stoic
2. Ambivert
3. Ambiguous

4. Dual

Question ID : 264330144233
Status : Answered
Chosen Option : 2

Q.3 Select the option that can be used as a one-word substitute for the given group of
words.

Something which cannot be easily conquered

Ans 1. Frightening
2. Invincible
3. Reciprocal

4. Stable

Question ID : 264330143969
Status : Answered
Chosen Option : 2




Q.4 Select the most appropriate ANTONYM of the underlined word in the following

sentence.
Bhagat Singh was a young firebrand, whose militant activism and revolutionary

fervour made him a symbol of resistance against the British Raj.

Ans 1. Violent
2. Radical
3. Moderate

4. Ultra

Question ID : 264330143960
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate synonym of the bracketed word in the following sentence
to fill in the blank.

The security cameras can automatically (rotate) to monitor the entire

hallway.
Ans 1. evolve

2. resolve
3. revolve

4. devolve

Question ID : 264330142658
Status : Answered
Chosen Option : 3

Q.6 Parts of a sentence are given below in jumbled order. Select the option that arranges
the parts in the correct order to form a meaningful sentence.

A. as some 71 per cent of Earth’s surface is covered by saltwater oceans, and
B. notwithstanding that Europa and Enceladus (moons of Jupiter and Saturn,

respectively)
C. the continents themselves possess lakes, rivers, and, in some cases, seas
D. are both covered in ice, Earth is the true water world of the solar system
Ans 1.B,D,AC
2.B,C,A D
3.A,B,D,C

4.A,B,C,D

Question ID : 264330149587
Status : Answered
Chosen Option : 3

Q.7 Parts of the following sentence have been given as options. Select the option that
contains an error.

He lives in 45 Church Street with his family.
Ans 1. in 45 Church Street

2. with his family
3. lives

4. He

Question ID : 264330144368
Status : Answered
Chosen Option : 1




Q.8 Select the most appropriate synonym of the word ‘Scrutiny’ from the given sentence.

The company's strategic plan included a comprehensive analysis of market trends and
consumer behaviour.

Ans 1. Behaviour
2. Comprehensive
3. Trends

4. Analysis

Question ID : 264330144157
Status : Answered
Chosen Option : 2

Q.9 Select the most appropriate synonym of the word ‘Capable’ from the given sentence.

Jayesh was competent and the best candidate for the post of clerk in the interview,
whereas others were inefficient and irritating.

Ans 1. best
2. irritating
3. competent

4. inefficient

Question ID : 264330144310
Status : Answered
Chosen Option : 3

Q.10 Select the option that expresses the following sentence in passive voice.
Your mother teaches us English literature.
Ans 1. English literature is taught to us by your mother.
2. English literature has been taught to us by your mother.
3. Your mother is taught to us English literature.

4. English literature taught to us by your mother.

Question ID : 264330142599
Status : Answered
Chosen Option : 1

Q.11 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
He sang / beautifully but / the judges were / unimpress at the end.

Ans 1. the judges were
2. unimpress at the end
3. He sang
4. beautifully but

Question ID : 264330149887
Status : Answered
Chosen Option : 2




Q.12 Select the most appropriate ANTONYM of the given word.
Stationary

Ans 1. Moving
2. Immobile
3. Permanent

4. Stable

Question ID : 264330149751
Status : Answered
Chosen Option : 1

Q.13 Select the correct spelling from the given options to fill in the blank.
The civil engineers are trying to the bridge using the new technology.

Ans 1. elevate
2. ilivate
3. alivate

4. elivait

Question ID : 264330141318
Status : Answered
Chosen Option : 4

Q.14 Select the most appropriate homonym in the context of the following sentence to fill in

the blank.
My birthday will on a Friday this year.
Ans 1. fall: to go down onto the ground suddenly

2. fall: to come at a particular time or happen in a particular place
3. fall: to change to a particular condition

4. fall: to be beaten or defeated

Question ID : 264330142649
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate meaning of the given idiom.
Play it by ear
Ans 1. Obey the rules blindly
2. Act as suggested
3. Discontinue impulsively

4. Perform without any rehearsals

Question ID : 264330148931
Status : Answered
Chosen Option : 4




Q.16 Parts of a sentence are given below in jumbled order. Select the option that arranges
the parts in the correct order to form a meaningful sentence.

A. with the occult and the satanic which in turn, owes much also to
B. Poe’s work owes much to the concern of Romanticism

C. shaping plausible fabrics out of impalpable materials

D. his own feverish dreams, to which he applied a rare faculty of

Ans 1.A,B,D,C
2.A,B,C,D
3.C,B,A,D

4.B,A,D,C

Question ID : 264330149582
Status : Answered
Chosen Option : 4

Q.17 Select the most appropriate idiom to fill in the blank.
Ashu is a dedicated guy, always ready to for the betterment of his company.

Ans 1. snug as a bug in a rug
2. lose his marbles
3. rain on his parade

4. go the extra mile

Question ID : 264330143231
Status : Answered
Chosen Option : 4

Q.18 Select the option that can be used as a one-word substitute for the given group of
words/phrase.

The doctor who treats bone problems
Ans 1. Obstetrician

2. Gynaecologist
3. Orthopaedist

4. Physiotherapist

Question ID : 264330144237
Status : Answered
Chosen Option : 3

Q.19 Identify the INCORRECTLY spelt word in the following sentence and select its correct
spelling from the given options.

Your lack of knowledge of recent advances in technology will be a sitback for your
business.

Ans 1. advancess
2. knowleidge
3. bussiness

4. setback

Question ID : 264330142643
Status : Answered
Chosen Option : 2




Q.20 Select the option that expresses the given sentence in passive voice.
The Governor of the state inaugurated the exhibition in a grand way.

Ans 1. The exhibition had been inaugurated by the Governor of the state in a grand way.
2. The exhibition inaugurated by the Governor of the state in a grand way.
3. The exhibition has been inaugurated by the Governor of the state in a grand way.

4. The exhibition was inaugurated by the Governor of the state in a grand way.

Question ID : 264330143042
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Our school organised a graduation day to award certificates to the students. The graduation
day highlights the overall achievements of students. All the students who are being graduated
are invited formally with their parents. Students wore their attire according to the dress code
given to them by the school administration. High school graduation (1) is one of the
most awaited and last event of any school. The function began with (2) the lamp,
followed by the distribution of certificates in a very systematic way. Our principal made a long
and (3) speech and blessed us for the future (4). On behalf of our
graduating class, our class representative extended a vote of thanks to show (5) to
all staff members. One of the parents expressed their experiences and views. At last, all the
students, parents and staff members had lunch together.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans 1. episode

2. festival
3. incident

4. ceremony

Question ID : 264330151302
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Our school organised a graduation day to award certificates to the students. The graduation
day highlights the overall achievements of students. All the students who are being graduated
are invited formally with their parents. Students wore their attire according to the dress code
given to them by the school administration. High school graduation (1) is one of the
most awaited and last event of any school. The function began with (2) the lamp,
followed by the distribution of certificates in a very systematic way. Our principal made a long
and (3) speech and blessed us for the future (4). On behalf of our
graduating class, our class representative extended a vote of thanks to show (5) to
all staff members. One of the parents expressed their experiences and views. At last, all the
students, parents and staff members had lunch together.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans 1. lighting

2. lightening
3. sparking
4. glittering

Question ID : 264330151303
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Our school organised a graduation day to award certificates to the students. The graduation
day highlights the overall achievements of students. All the students who are being graduated
are invited formally with their parents. Students wore their attire according to the dress code
given to them by the school administration. High school graduation (1) is one of the
most awaited and last event of any school. The function began with (2) the lamp,
followed by the distribution of certificates in a very systematic way. Our principal made a long
and (3) speech and blessed us for the future (4). On behalf of our
graduating class, our class representative extended a vote of thanks to show (5) to
all staff members. One of the parents expressed their experiences and views. At last, all the
students, parents and staff members had lunch together.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans 1. self-praising

2. encouraging
3. boring

4. depressing

Question ID : 264330151304
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Our school organised a graduation day to award certificates to the students. The graduation
day highlights the overall achievements of students. All the students who are being graduated
are invited formally with their parents. Students wore their attire according to the dress code
given to them by the school administration. High school graduation (1) is one of the
most awaited and last event of any school. The function began with (2) the lamp,
followed by the distribution of certificates in a very systematic way. Our principal made a long
and (3) speech and blessed us for the future (4). On behalf of our
graduating class, our class representative extended a vote of thanks to show (5) to
all staff members. One of the parents expressed their experiences and views. At last, all the
students, parents and staff members had lunch together.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 1. endeavours

2. neglects
3. entertainments

4. ruins

Question ID : 264330151305
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Our school organised a graduation day to award certificates to the students. The graduation
day highlights the overall achievements of students. All the students who are being graduated
are invited formally with their parents. Students wore their attire according to the dress code
given to them by the school administration. High school graduation (1) is one of the
most awaited and last event of any school. The function began with (2) the lamp,
followed by the distribution of certificates in a very systematic way. Our principal made a long
and (3) speech and blessed us for the future (4). On behalf of our
graduating class, our class representative extended a vote of thanks to show (5) to
all staff members. One of the parents expressed their experiences and views. At last, all the
students, parents and staff members had lunch together.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans 1. gracious

2. gratitude
3. courteous

4. greet

Question ID : 264330151306
Status : Answered
Chosen Option : 2

Section : General Intelligence

Q.1
Ans 1.
2.
3 Question ID : 264330147362
' Status : Answered
4. Chosen Option : 3
Q.2

Ans 11754

2. 19— 60
31548
4 14-42

Question ID : 264330152123
Status : Answered
Chosen Option : 4




Q.3

Question ID : 264330147222

Status : Answered

Chosen Option : 1

Ans

Q.4

Ans

Question ID : 264330146653

Status : Answered

Chosen Option : 4




Q5

Ans 1]
2.3
3. 4 Question ID : 264330152169
4 2 Status : Answered
' Chosen Option : 4
Q.6
Ans . 9
- B
-7
-8
Question ID : 264330146910
Status : Answered
Chosen Option : 3
Q.7
Ans

Question ID : 264330147495
Status : Answered
Chosen Option : 3




Q.8 IKLN’ is related to ‘FHIK' in a certain way based on the English alphabetical order. In the same way, ‘GIL is related to
‘DFGI’. To which of the following is ‘MOPR’ related, following the same logic?

Ans 1 JMOP

2. JKMO
3. JLMO
4. ILNO
Question ID : 264330150686
Status : Answered
Chosen Option : 3
Q.9
Ans 1. 281
2.
3. 279
4. Question ID : 264330146415
Status : Answered
Chosen Option : 1
Q.10

Ans 1. MRTU
2. NSVW
3. MRUV
4. MQTU

Question ID : 264330150979
Status : Answered
Chosen Option : 3




Q.11

Ans 1.
2.
3.
4,
Question ID : 264330147417
Status : Answered
Chosen Option : 1
Q.12
Ans L. VZVVZZZZ
2. NEZINVZZZ
3. INVINVIV
4 INZINZZZ Question ID : 264330150476
Status : Answered
Chosen Option : 3
Q.13
Ans 1.
2. Four
3.
4.

Question ID : 264330147080
Status : Answered
Chosen Option : 1




Q.14

Ans

1.
2.
3.
4. Question ID : 264330146969
Status : Answered
Chosen Option : 3
Q.15
Ans 1.
2.
3.
4. Question ID : 264330146401
Status : Answered
Chosen Option : 1
Q.16
Ans 1. Friday
2. Thursday
3.
4.
Saturday Question ID : 264330147458
Status : Answered
Chosen Option : 1
Q.17
Ans 1.
2. 9]
3. 87
4,
85 Question ID : 264330146349

Status : Answered
Chosen Option : 1




Q.18

Ans 1.

3.

4. Only conclusion (IT) definitely follows.

Question ID : 264330155137
Status : Answered
Chosen Option : 4

Q.19
Ans 1.
2.
3. Question ID : 264330146714
4. Status : Answered
Chosen Option : 4
Q.20
Ans 1.
2.
3. XKC Question ID : 264330146738
4 Status : Answered
. Chosen Option : 3




Q.21

Ans 1. 38

Question ID : 264330146997
4. 52 Status : Answered
Chosen Option : 4

=
E
[5

Question ID : 264330146478
Status : Answered
Chosen Option : 2




5,7,11, 7, 35,67

Q.23 Which number will replace the guestion mark (?) to complete the given series?

Ans 1. 19
2. 15
3.13
417
Question ID : 264330150697
Status : Answered
Chosen Option : 1
Q.24
Ans 1.
2. Mother
3. Sister
4 Question ID : 264330146764
Status : Answered
Chosen Option : 1
Q.25
Ans 1.
2. 92
3.
490

Question ID : 264330147032
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude

Q.1
Ans 1.
2.
3.
4.

Question ID : 264330147954
Status : Answered
Chosen Option : 4




Q.2

Find the value of the expression

x°—1

x— x—3
Ans 1]
2. =2
3 -1
4.2
Question ID : 264330150626
Status : Answered
Chosen Option : 2
Q.3
Ans 1.
2.
3.
4. Question ID : 264330147709
Status : Answered
Chosen Option : 1
Q4
Ans 1.
2.
3.
4. Question ID : 264330149273
Status : Answered
Chosen Option : 2
Q.5
Ans 1.
2. 108 :75: 143
3.
4. Question ID : 264330150657

Status : Answered
Chosen Option : 2




Q.6

Ans
1.7 2
2
2. 6=
2
3. K=
3
4. 8 E Question ID : 264330148813
3 Status : Answered
Chosen Option : 2
Q.7
Ans 1. g0
2. g2¢
3. 95°
4. 75° Question ID : 264330146441
Status : Answered
Chosen Option : 2
Q.8
Ans 1.
2.
3' .
Question ID : 264330147764
4. Status : Answered

Chosen Option : 2




Q.9

Ans 1.
2.
3.
4,
Question ID : 264330147729
Status : Answered
Chosen Option : 3
Q.10
Ans 1 4
2.8
37
4. G
Question ID : 264330147981
Status : Answered
Chosen Option : 4
Q.11
Ans 1.
2.
3.
4, Question ID : 264330147975

Status : Answered
Chosen Option : 3

Q12 Ifeos A= 2 , then find the value of tan A + cot A (up to two places of decimal).

ANS 1419
2 2.76
5 3.19
4.5.23

Question ID : 264330151133
Status : Answered
Chosen Option : 1




Q.13

Ans
3.
Question ID : 264330148190
Status : Answered
Chosen Option : 3
Q.14
Ans 1.
2.
3 60
430
Question ID : 264330147952
Status : Answered
Chosen Option : 1
Q.15
Ans 365
4
2 256
4
3 4156
4
198
4 Question ID : 264330149343

Status : Answered
Chosen Option : 2




Q.16

Ans 1. 50
2. a0
3. 80 Question ID : 264330150944
Status : Answered
4. 30 Chosen Option : 2
Q.17

Ans 1 360,00,000
2. %75,00,000

3. 250.00,000 Question ID : 264330151152
Status : Answered

4. Z37.50,000 Chosen Option : 1




Q.18 . 1 . .
If sin 8 — cos 8=-, then find the value of sin 6 + cos 6.
5
Ans 5
1. —_
7
7
2. —
5
5
3. —
3
3
4., —
5
Question ID : 264330149460
Status : Answered
Chosen Option : 2
Q.19
Ans 11
2.3
30
4.2 Question ID : 264330149409
Status : Answered
Chosen Option : 3
Q.20
Ans 16,000
2. 8,400
3. 5,800
4 S’{)DD Question ID : 264330151411
Status : Answered
Chosen Option : 4
Q.21
Ans 1.
2.
3. 67
4 66

Question ID : 264330148187
Status : Answered
Chosen Option : 2




Q.22

Ans 1.
2.
3.
4. Question ID : 264330148846
Status : Answered
Chosen Option : 3
Q.23
Ans 1. 5@
2. 75°
3. 55%
4.
Question ID : 264330146535
Status : Answered
Chosen Option : 1
Q.24
Ans 1.
2.
3.
4.

Question ID : 264330147889
Status : Answered
Chosen Option : 1

Q25 Tpe length of each side of an equilateral triangle is 22 ¢m. Find the area (in cm?) of

this triangle.

Ans 1121
2. 24243
312143

4. 242

Question ID : 264330146814
Status : Answered
Chosen Option : 3

Section : General Awareness




Q.1

Ans 1. Sabarmati
2. Brahmani
3. Kaveri
n .
PEI'J.}?HI Question ID : 264330152279
Status : Answered
Chosen Option : 3
Q.2
Ans 1
2.
3.
4 Question ID : 264330145601
’ Status : Not Answered
Chosen Option : --
Q.3
Ans 1.
2.
3.
4. BN Rau
Question ID : 264330150705
Status : Answered
Chosen Option : 4
Q.4
Ans 1.
2.
3.
4.

Question ID : 264330145969
Status : Answered
Chosen Option : 4




Q.5

Ans 1.
2.
3.
4,
Question ID : 264330145680
Status : Answered
Chosen Option : 2
Q.6
Ans 1. 67,956 km
2.
3. 91,604 km
4. 82,402 km
Question ID : 264330150244
. Not Attempted and
Status - Marked For Review
Chosen Option : --
Q.7
Ans 1
2. Tamil Nadu
3. Maharashtra
4. Kerala
Question ID : 264330148635
Status : Answered
Chosen Option : 4
Q.8
Ans 1.
2.
3.
4.

Question ID : 264330144773
Status : Not Answered
Chosen Option : --




Q.9

Ans 1.
2.
3.
4. Question ID : 264330145707
Status : Not Answered
Chosen Option : --
Q.10
Ans 1.
2.
3.
4. Question ID : 264330150249
Status : Answered
Chosen Option : 4
Q.11
Ans 1.
2.
3.
4.
Question ID : 264330145990
Status : Answered
Chosen Option : 3
Q.12
Ans 1.0.768
2. 0.645
3. 0.557
4.0.750

Question ID : 264330149637
Status : Not Answered
Chosen Option : --




Q.13

Ans 1.
2.
3.
4.
Question ID : 264330144662
Status : Answered
Chosen Option : 4
Q.14
Ans 1
2.
3.
4,
Question ID : 264330145701
Status : Answered
Chosen Option : 3
Q.15
Ans 1. Bihar
2.
3. Punjab
4. Bengal
Question ID : 264330148572
Status : Answered
Chosen Option : 2
Q.16
Ans 1.
2.
3.
4.

Question ID : 264330148591
Status : Answered
Chosen Option : 3




Q.17

Ans 1.

Question ID : 264330145716
Status : Answered
Chosen Option : 2

Q.18 Which of the following words was NOT a part of the original Preamble of the Indian Constitution?

Ans 1.
2. Republic
3. Secular
4,
Question ID : 264330150353
Status : Answered
Chosen Option : 1
Q.19
Ans 1
2.
3.
4. Question ID : 264330150428
Status : Not Answered
Chosen Option : --
Q.20

Ans 1. Rs. 3000
2. Rs. 6000
3. Rs. 8000
4. Rs. 2000

Question ID : 264330150049
Status : Not Answered
Chosen Option : --




Q.21

Ans 1
2. Delhi Capitals
3.
4.
Question ID : 264330154804
Status : Answered
Chosen Option : 3
Q.22
Ans 1
2.
3.
Question ID : 264330145880
4. Status : Answered
Chosen Option : 3
Q.23
Ans 1.
2. Manipuri
3. Chhau
4. Question ID : 264330151328
Status : Answered
Chosen Option : 1
Q.24
Ans 1.
2.
3.

4. Heinrich Friedrich Ienz

Question ID : 264330149940
Status : Not Answered
Chosen Option : --




Q.25

Ans

1. A-IV, B-IL C-I, D-III
2. A-II, B-1, C-IV, D-TI
3. A-IL B-IV, C-ITI, D-I
4. A-L B-II, C-IV, D-III

Question ID : 264330151324
Status : Answered
Chosen Option : 4
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